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2019
B.A. 1st Semester Examination
PHILOSOPHY (Honours)
Paper : C 2-T
History of Western Philosphy-1
Full Marks : 60 Time : 3 Hours

The figures in the margin indicate full marks.
Candidates are required 1o give their answers in their
own words as far as practicable.

Answer all the questions.
Group-A
1. Answer any ten of the followings : 10x2=20

(a}  Who said that, “Everything in the universe is in
a state of flux™. 2

(b) On what grounds Anaximenes called that air is

the first principle of the world ? 2
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(2)

»

Why Heraclitus admitted fire as the basic stuft ?
2

What are the different levels of knowledge
according to Plato ? 2

What is the “Third Man Argument’ of Aristotle 7
2

Following Aquinas mention the basic difference
between Essence and Existence. 2

What is substance, according to Descartes ? 2

What is the Cartesian method of universal doubt?

2
What does Descartes mean by innate ideas ? 2
What is a substance according to Spinoza ? 2

What is ‘Pri-established Harmony’, according to
Leibnitz ? 2

What is the ‘Law of sufficient Reason’, according

to Leibnitz 7 3
Why is Spinoza called a pantheist ? 2
Why is Leibnitz considered as Pluralist ? 2

What is the law of ‘Identity of indiscernibles’? 2
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Group-B
2. Answer any four of the followings : 4x5=20
(a) Explain after permenides the theory of Being. 5
(b} How does Aristotle distinguish btween Form and
Matter ? 5
(¢} How does Descartes explain the dualism between
mind and body ? 5
(d) Explain the notion of ‘Allegory of the Cave’,
advocated by Plato. 5
(e) How does Leibnitz distinguish between “Truths
of Reason’ and ‘Truths of Facts™ ? 5
(f) “Substance = God = Nature”—Explain after
Spinoza. - 5
Group-C
3. Answer any two of the followings : 10x2=20

(a) Explain after Aristotle the doctrine of four causes.
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(b)

(c)

(d)
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(4)
Explain and examine ontological argument for
the existence of God, advocated by Descartes.
10
*How does Spinoza explain the relation between
substance attribute and modes ? 10

Explain the Leibnitz’s theory of Monad. 10
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